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Question Number : 1 Question Id : 1034357584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Kaiser



2. Kasakas
3. Kabalas
4. Kakapos
5. Kababs

Options :

1. ¥ 53142
2. % 53214
3. % 53241
4. % 52341

Question Number : 1 Question Id : 1034357584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Kaiser

2. Kasakas

3. Kabalas

4. Kakapos

5. Kababs

Options :

1. ¥ 53142
2. % 53214
3. % 53241
4. % 52341

Question Number : 2 Question Id : 1034357585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
DSL, WNR, PIX, IDC, BYJ, UTP

Options :
1. # PIX
2. ¥ IDC
3. # BYIJ



4. % UTP

Question Number : 2 Question Id : 1034357585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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DSL, WNR, PIX, IDC, BYJ, UTP
Options :
1. # PIX
2. ¥ IDC
3. % BYJ
4. % UTP

Question Number : 3 Question Id : 1034357586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Lizard

2. % Crocodile

3. * Chameleon

4, ¥ Rat

Question Number : 3 Question Id : 1034357586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fuddr

2. % HIRHS

3. % fiRfAE

4. @1



Question Number : 4 Question Id : 1034357587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
NC:PD::PR:?

Options :

1. % RQ

2. % RS

3. % QS

4. % QT

Question Number : 4 Question Id : 1034357587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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NC:PD::PR:?

Options :

1. # RQ

2. ¥ RS

3. % QS

4. % QT

Question Number : 5 Question Id : 1034357588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(BQ, VW, PC)

Options :

1. % (LD, FJ, AP)

2. % (ZF, TL, NT)

3. ¥ (EP, YV, SB)



4. % (MG, GM, BS)

Question Number : 5 Question Id : 1034357588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(BQ, VW, PC)

Options :

1. ¥ (LD, FJ, AP)

2. % (ZF, TL, NT)

3. ¥ (EP, YV, SB)

4. % (MG, GM, BS)

Question Number : 6 Question Id : 1034357589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘SLOWERS’ is written as ‘VUHZROV’. What is the code for ‘NATURAL’ in that code language?
Options :

1. ¥ ODUXWDQ

2. % ODUYWDQ

3. % ODUYXDQ

4. % ODUXXDQ

Question Number : 6 Question Id : 1034357589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ ODUXWDQ

2. % ODUYWDQ

3. % ODUYXDQ



4. % ODUXXDQ

Question Number : 7 Question Id : 1034357590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a man in a photograph, Sita said, “He is the only brother of my mother”. How is that man related to Sita?
Options :

1. ¥ Uncle

2. % Brother

3. % Son

4. % Father

Question Number : 7 Question Id : 1034357590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HMHI

2. % g

3.9 4F

4. % fOdr

Question Number : 8 Question Id : 1034357591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of six members is to be selected among nine members M1, M2, M3, M4, M5, M6, M7, M8 and M9. M3 and M7 have to be selected
together. M4 and M8 cannot be selected together. Either M2 or M5 has to be selected with M7. Neither M1 nor M6 can be selected with M9.
Which of the following members can be selected?

Options :

1. ¥ M1, M2, M4, M5, M6, M8
2. % M2, M3, M5, M6, M8, M9
3. ¥ M1, M2, M3, M4, M6, M7



4. % M1, M3, M5, M6, M7, M9

Question Number : 8 Question Id : 1034357591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M1, M2, M4, M5, M6, M8

2. % M2, M3, M5, M6, M8, M9

3. ¥ M1, M2, M3, M4, M6, M7

4. % M1, M3, M5, M6, M7, M9

Question Number : 9 Question Id : 1034357592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E eat five different types of food F1, F2, F3, F4 and F5 (not necessarily in the same order). Each also likes a different
bird namely B1, B2, B3, B4 and B5 (not necessarily in the same order). B eats F2. A does not like B3. E eats F1, but he does not like B1 or B2. C
does not eat F4, but he likes B5. The one who eats F3, likes B3. B does not like B2. Which of the following statements are correct?

I. A likes B2.

II. C eats FS.

II1. E likes B4.

Options :

1. % Tand Il

2. % Il and III
3. % Tand III

4, % 1,11 and 11T

Question Number : 9 Question Id : 1034357592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% 19U

2. % YT

3. % [ QU

4. 1,11 AU I

Question Number : 10 Question Id : 1034357593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some D are R.

II. NoR is P.

Conclusions:

I. Some D are not P.

II. Some P are not D.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 1034357593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had [T5HY [ IRV Bl §
2. % Had (B 11 SR Fal §
3. % I FSHY 1 a7 11 SR Hvd §
4. % DIz W FIHY SR T8 axaT @

Question Number : 11 Question Id : 1034357594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some A are B.

II. All B are C.

III. No A is D.

Conclusions:

I. Some B are C.

II. Some B are not D.

III. Some D are not C.

Options :

1. ¥ Both conclusion I and II follows

2. % Both conclusion I and III follows

3. ¥ Both conclusion II and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 1034357594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

2 foU U Uy T 8 FHUF 3R 39D 918 3 Bl R SMUTRT & (5hS U T g | 3T T HY=1 o1 Tg! A, 918 I AR 1 2
3 forzrar 811t e ug oiR fRR ey &% o fou o o @ e, fou U wai & SR WR gfaasd g

HY:
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Options :
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Question Number : 12 Question Id : 1034357595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.
24| 6
X | =8 7
13|41 | ?

Options :
1. # 81
2.9 85
3. %91
4, % 95

Question Number : 12 Question Id : 1034357595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 81
2.9 85
3. % 91
4. % 95

Question Number : 13 Question Id : 1034357596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
132, 67, 68, 103, 207, 518

Options :
1. % 132
2. % 67

3. % 207
4,9 518

Question Number : 13 Question Id : 1034357596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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132, 67, 68, 103, 207, 518

Options :
1. % 132
2. % 67

3. % 207
4.+ 518



Question Number : 14 Question Id : 1034357597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many cars are scooter, but not bus?

Car
Scooter \ 88 \
——Bus
78
Options :
1.¥8
2. % 18
3. % 26
4. % 76

Question Number : 14 Question Id : 1034357597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥38
2. % 18
3. % 26
4. % 76

Question Number : 15 Question Id : 1034357598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

I. The number of walls which are not poem is 46.
II. The number of poems which are not poet is 71.

Poet

Poem

46

— Wall

Options :

1. % Only I

2. % OnlyII

3. % BothIand II



4. ¥ Neither I nor 11

Question Number : 15 Question Id : 1034357598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd I

3. % [ gUT I Gl
4. ABIATBI

Question Number : 16 Question Id : 1034357599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If North becomes North-west and South-east becomes east, then, what will West become?
Options :

1. # East

2. % North-east

3. ¥ South-west

4. % South



Question Number : 16 Question Id : 1034357599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gd

2. % IR

3.  Sf&u-uiym

4. % gfaror

Question Number : 17 Question Id : 1034357600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit walks 40 metre. He turns to the left and walks 30 metre. He turns to the right and walks 35 metre. He again turns to the right and walks 60
metre. Finally, he turns to the right and walks 115 metre. Which of the following statement is correct?

I. The distance between starting point and finishing point is 40 metre.

II. If now Rohit is facing towards the east, then he would have started walking towards the west.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 17 Question Id : 1034357600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1



2.« Had Il
3. % [qYT I el
4. % AIBTITBIII

Question Number : 18 Question Id : 1034357601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

AR

Options :

Question Number : 18 Question Id : 1034357601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AR

Options :

Question Number : 19 Question Id : 1034357602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. %7



2. %8
3.9
4.+ 10

Question Number : 19 Question Id : 1034357602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %7
2. % 8
3.9
4. % 10

Question Number : 20 Question Id : 1034357603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two adjacent faces of a solid cube are painted with black colour. The faces opposite to the black faces is painted with blue colour while the
remaining faces are painted with yellow colour. After painting, this cube has been divided into 125 equal cubes. How many cubes have no faces
painted?

Options :
1. % 8
2. % 24
3.¥27
4. % 35



Question Number : 20 Question Id : 1034357603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 8
2. % 24
3.¥ 27
4. % 35
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Question Number : 21 Question Id : 1034357604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Shigmotsav’ festival is celebrated in which state of India?
Options :

1. # Rajasthan

2. % Tamil Nadu

3. # Uttar Pradesh

4. ¥ Goa

Question Number : 21 Question Id : 1034357604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AR YR & b g & 771 97T 82
Options :

1. % IR

2. % qATrg

3. % IWUSK

4, Al

Question Number : 22 Question Id : 1034357605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Hill Palace Museum is situated in which state of India?



Options :

1. # Tamil Nadu
2. ¥ Kerala

3. % Karnataka
4. % Maharashtra

Question Number : 22 Question Id : 1034357605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foet Uehe TURTad HRd & forg Id o fyd g2
Options :

1. % qerg

2. ¥ B

3. % PICD

4. % TERTY

Question Number : 23 Question Id : 1034357606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of indirect tax?
Options :

1. * Wealth tax

2. % Gift tax

3. * Estate duty

4. ¥ Excise tax

Question Number : 23 Question Id : 1034357606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHfIRad & A B UG DR BT T GBI 82

Options :



1. % oy (Wealth tax)
2. % JUBR IR (Gift tax)

3. % YUl Yoob (Estate duty)
4. % JdIG hX (Excise tax)

Question Number : 24 Question Id : 1034357607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The new Rs. 20 denomination bank note in the Mahatma Gandhi (new) series has a motif of
Options :

1. # Red fort

2. ¥ Ellore caves

3. % Mangalayan

4. % Rani ki Vav

Question Number : 24 Question Id : 1034357607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tere e () e F W20 W F dF A F U HTIRAGI
Options :

1. % dre foba

2. ¢ UARI %]

3. % HIeAH

4. % I DI 919

Question Number : 25 Question Id : 1034357608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The motion of the moon around the earth is due to the
Options :

1. # Centrifugal force



2. ¥ Centripetal force
3. % Friction force

4. * Gravitational force

Question Number : 25 Question Id : 1034357608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt & TRY 3R 5 BI 1 % HRUI B g
Options :

1. % HLIERS a

2. ¢ 3ffticbg g

3. % gy

4. % TEAHYU g

Question Number : 26 Question Id : 1034357609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pH of a neutral solution is

Options :

1. % 10

2.%2

3.%9

4.7

Question Number : 26 Question Id : 1034357609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3eNH faead & pH &1 A gl
Options :

1. %10

2.% 2




3.9
4.7

Question Number : 27 Question Id : 1034357610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is correct?
I. Gymnosperms — Bear seeds inside fruits
II. Angiosperms — Bear naked seeds

Options :

1. % Only I

2. % Only II

3. % Bothland Il
4. ¥ Neither I nor 11

Question Number : 27 Question Id : 1034357610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 3 3 oF 91 g el 82

1. ForgegH — el # §¢ oS arad

11. URorRgH — reiton

Options :

1. % Had |

2. % had I

3. % 1A Gl

4. GG

Question Number : 28 Question Id : 1034357611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following state does not share its boundary with China?
Options :



1. ¥ West Bengal
2. % Uttarakhand
3. % Himachal Pradesh
4. % Arunachal Pradesh

Question Number : 28 Question Id : 1034357611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffed & 3 o 91 UexT < o ST e 5T 3l 82
Options :

1. ¢ UigH ST

2. % JWES

3. % fgHmad U™

4. % RSN Y=

Question Number : 29 Question Id : 1034357612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a Kharif crop?
Options :

1. % Jowar

2. % Maize

3. % Bajra

4. % Barley

Question Number : 29 Question Id : 1034357612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed 7 9 oF @ U % U T8 62
Options :

1. % SdR



2. % Taph]
3. % qToR]
4. Sff

Question Number : 30 Question Id : 1034357613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. The part of the Himalayas lying between Satluj and Kali rivers is known as Kumaun Himalayas.
II. The outer most range of the Himalayas is called lesser Himalaya.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 30 Question Id : 1034357613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad 7 3 o1 91 Hy I8t 82 .
. IS qUT HIch Al & ora f[Ryd iR & Ui &1 $HIS, fRATad & 14 9 o1 S ]
11. AT o Gad STe<t JRaal &l 49 fgHred Sg1 Sran g |

Options :

1. Hadl
2. % Had II
3. % [T gl
4. % BT I

Question Number : 31 Question Id : 1034357614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who started the newspaper Kesari?



Options :

1. % Lala Lajpat Rai

2. ¥ Balgangadhar Tilak
3. * Bipin Chandra Pal
4. % Mahatma Gandhi

Question Number : 31 Question Id : 1034357614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI FHEIR U B YRS fore i &t
Options :

1. % QT ArS1ad I

2. ¢ SR facde

3. % faft= <ig ura

4. % TETHT Tl

Question Number : 32 Question Id : 1034357615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gautamiputra Shri Satakarni was the ruler of the dynasty.
Options :

1. # Cholas

2. # Cheras

3. % Pandayas

4. ¥ Satavahanas

Question Number : 32 Question Id : 1034357615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mt O ot Aol CRICRIEIR]

Options :



1. % 9d
2. % W

3. % Uisy
4. ¢ Trdared

Question Number : 33 Question Id : 1034357616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pair of dynasty — related place is correct?
I. Cholas — Uraiyur
II. Pallava — Kanchipuram

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 33 Question Id : 1034357616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
91— GafRId I BT I 1 T el 2
1. el - IZIR

1. UeeTd — hidIgRA

Options :

1. % Had 1
2. % HAd I
3. [T I gl
4. % FIBIIATBII

Question Number : 34 Question Id : 1034357617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the author of book “A Promised Land”?
Options :

1. ¥ Barack Obama

2. ® Narendra Modi

3. # Shinzo Abe

4. % Imran Khan

Question Number : 34 Question Id : 1034357617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Q YIRS de” TA® & D DI &7
Options :

1. ¥ ST SISH

2. % R HIG

3. % fRiel ofdl

4, % QUG

Question Number : 35 Question Id : 1034357618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as new health minister of India in July 2021?
Options :

1. # Dr. Harshvardhan

2. % Mansukh Mandaviya

3. % Ashwini Vaishnav

4. % Shri Arjun Munda

Question Number : 35 Question Id : 1034357618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST 2021 H YRA & ¢ WA Tt & 0 H ford fAged foear man g2

Options :



1. % STgyaedq

2. ¢ TAYE HeIaal
3. % Sffy qwrg
4. % off 3 geT

Question Number : 36 Question Id : 1034357619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 2021 how many persons have been awarded with Padma Shri?
Options :

1. % 29

2. % 112

3.% 7

4.4 102

Question Number : 36 Question Id : 1034357619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H fora cafaaal &1 vt ot gwa fosar mn g2
Options :

1. = 29

2. % 112

3.% 7

4.9 102

Question Number : 37 Question Id : 1034357620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 5 to 11 of the Indian constitution deal with
Options :

1. ¥ Citizenship



2. * Fundamental duties
3. * Fundamental rights

4. % Union executive

Question Number : 37 Question Id : 1034357620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRANT TRAYH HT3gRE s 11 AT
Options :

1. ¢ AR

2. % A Ha

3. % Td TDPR

4. % Y HRABIRON

Question Number : 38 Question Id : 1034357621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Parliament has the power to regulate the right of citizenship in India.
II. Fundamental rights are mentioned in part III of Indian constitution.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 38 Question Id : 1034357621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaferad 7 @ o 91wy I8t 82
1. 99 & U HRd § ARG & 3fIeR o fafaftd #31 ot afad g1
1. R Sfaem™ & Wit 11 § 9o SifeRI &1 fgavur fear mn g




Options :

1. % $Had |

2. % Had Il

3. ¢ 1 U I Gl
4. % GBI

Question Number : 39 Question Id : 1034357622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the 2023 ICC Men’s Cricket World Cup?
Options :

1. % Australia

2. % South Africa

3. ¥ India

4. % Sri Lanka

Question Number : 39 Question Id : 1034357622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 35 .. gE fohdbe fay HU B ASEH DIF T o= HE
Options :

1. % 3fiecfer

2. % f&T0T 3{TplapT

3. ¥ HRd

4. % Siciepl

Question Number : 40 Question Id : 1034357623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pair of sports — Number of players is correct?
I. Polo—4
II. Rugby — 11



Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 40 Question Id : 1034357623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td - fyanfedl &1 = &1 HH 91 g T8 52
1. Ul - 4

IL &t - 11

Options :

1. ¥ Bhad |

2. % Had Il

3. % [ QUM

4. % TG IAIRI

Arithmetic Ability

Group Number : 3

Group Id : 103435279
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Examiner permission : Cant View

Show Progress Bar? : No



Arithmetic Ability

Section Id : 103435320
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 103435439
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1034357624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 48 +3 x5 -6 x 3 +5?
Options :

1. ¥ 67

2. % 52

3. % 62

4. % 53

Question Number : 41 Question Id : 1034357624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
48 =3 x 56 x 3+ 5 BT A T §?
Options :

1. ¥ 67

2. % 52



3. % 62
4. % 53

Question Number : 42 Question Id : 1034357625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number 987X8 is exactly divisible by 8, then what is the value of X?
Options :

1.¥2

2.%0

3.%5

4. % 4

Question Number : 42 Question Id : 1034357625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T TRSAT 987X8, 8 I Yuia: fAHTIId &, df X &1 {1 o1 82
Options :

1.¥2

2.%0

3.%5

4. % 4

Question Number : 43 Question Id : 1034357626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(0.56)" +(0.66)" +(0.0076)"

{D.ﬂi"-ﬁ] -I-(D.ﬂﬁﬁ]:-l-(!].!]l]!ﬂﬁ]
What is the value of ?
Options :

1. = 100

=
e



2.¥10
3.1
4. % 1/10

Question Number : 43 Question Id : 1034357626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-
i

(0.56)" +(0.66)" +(0.0076)
(0.056)" +(0.066)" +(0.00076)"

T HH 132
Options :

1. #* 100

2.9 10

3.% 1

4. % 1/10

Question Number : 44 Question Id : 1034357627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

. V16 + 67 =x +.fy

Options :
1. % 10
2.% 16
3. % 18
4. % 20

, then what is the value of x +y?

Question Number : 44 Question Id : 1034357627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o V16 +6+7 =~x +.fy

Options :
1. % 10
2.% 16
3. % 18
4. % 20

g, M x+y BITAARTG?

Question Number : 45 Question Id : 1034357628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%6 32 22
What is the digit at the unit place e i ?

Options :
1. % 8
2.9 6
3.9
4. % 4

Question Number : 45 Question Id : 1034357628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28% x 26 x 94* B T R W T 3 T
Options :

1. % 8

2.9 6

3.%9

4, % 4

Question Number : 46 Question Id : 1034357629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The average age of 13 students of a class is 16 years. If a new student of age 30 years joins the class, then what will be the average age of these 14
students?

Options :

1. % 22 years
2. % 21 years
3.9 17 years
4. % 19 years

Question Number : 46 Question Id : 1034357629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ngﬁp%mﬁmﬁq‘fﬁ@ma&nqmmf%laﬁ3oaﬁ&mwwwﬁmﬁ$&nﬁmﬁa€rw%,a‘rsﬁr14%@&@@@%3{@
=l ?

Options :

1. % 2299

2. %21 qY

3.¢ 1739

4. % 1999

Question Number : 47 Question Id : 1034357630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, 40 percent are boys and the number of girls are 54. What is the number of boys in the class?
Options :

1. % 33

2. % 34

3. % 37

4. ¥ 36

Question Number : 47 Question Id : 1034357630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T BT H, 40 UfAd TS & IUT TSihdl Bl UBAT 54 & | HETH TS o1 I T 82
Options :

1. % 33

2. % 34

3. % 37

4. % 36

Question Number : 48 Question Id : 1034357631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of a car depreciates at the rate of 50 percent per annum. If its present value is Rs. 75000, then what was the value of the car 3 years
ago?

Options :

1. ¥ Rs. 600000

2. % Rs. 300000

3. % Rs. 450000

4. % Rs. 750000

Question Number : 48 Question Id : 1034357631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh DR D1 7l 50 UI=1d U aW b1 & Y B BIell 5 | Al ST TdHH Hed 75000 3T 8, Tl 3 TN Yd R BT Hed T UT?
Options :

1. ¢ 600000 ST

2. % 300000 TG

3. % 450000 ST

4. % 750000 3T

Question Number : 49 Question Id : 1034357632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A person buys three helmets at the rate of Rs. 2000 per helmet. He sells first helmet at a profit of 60 percent, sells second helmet at a loss of 20
percent and sells third helmet at a loss of 30 percent. What is the total percentage of profit earned in the whole transaction?

Options :

1. * 15 percent
2. % 20 percent
3. % 3.33 percent
4. % 10 percent

Question Number : 49 Question Id : 1034357632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G 2000 ¥ Ul gaHC 1 & I <fH gaHe WRIGd 6 | T8 Ugd 80HT Bl 60 TR & A1 TR S9dT 5, GO gaHe & 20 Ufa=id &
BT TR ST § U7 TR gHE DI 30 UTIRIA D1 8T TR o9 8| R O — & H & fda- UTa=Id &l oy HHT 17 82

Options :

1. % 15 gfawrd
2. % 20 gfard
3. ¢ 3.33 gfavrd
4. % 10 gfawrd

Question Number : 50 Question Id : 1034357633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three partners P, Q and R share profit such that 2 times of the P’s share is equal to 3 times of the Q’s share and equal to 6 times of the R’s share.
What is the ratio of the profits of P, Q and R respectively?

Options :
1.¥3:2:1
2.%3:2:4
3.%1:2:3
4, % 2:1:3

Question Number : 50 Question Id : 1034357633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T IRIER P, Q AUTR AH BT ZY PR dicd g b P H R BT 2 AT, Q & G F 3 % SRIER & JUTR & 3 & 6 AT & SRI&R & | HH:

P, Q TUT R & AT T SJUTd &1 82

Options :

1.¥3:2

2.% 3:2:
2
1

3.% 1;
4, % 2

W W A~ =

Question Number : 51 Question Id : 1034357634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A company retains 80 percent of its total profit and divides rest of the profit among its 21 employees. The ratio of the number of senior employees
to the number of junior employees is 4 : 3. The profit share of each senior employee and each junior employee is in the ratio of 4 : 1 respectively.
If each junior employee gets Rs. 2200 as his share of profit, then what is the total profit of the company?

Options :

1. % Rs. 644000
2. % Rs. 752000
3. % Rs. 636000
4. % Rs. 627000

Question Number : 51 Question Id : 1034357634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS SO S AT BT 80 UF=Td ITa § a7 AW Y 30 21 HHAMRA! H Sicd 8 | aRE HHaARA! & T 9UT HAY HHARG) &) G-
BT UM 4 : 3 8| TAD aNF HHAR! IUT TAS BT FHART & AT & 38 BT AT HH: 4« 1 g1 TS TAS S HHART 2200 TUY
ATH & 6 & U & U =1 &, O HU-! 1 Sl aTH T 52

Options :

1. % 644000 3T

2. % 752000 ¥UY

3. % 636000 ST

4. ¥ 627000 3T



Question Number : 52 Question Id : 1034357635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On compound interest (compounding annually) a certain sum becomes 3 times of itself in 4 years. In how many years will it become 9 times of
itself?

Options :

1. # 12 years
2. % 16 years
3. ¥ 8 years
4. % 10 years

Question Number : 52 Question Id : 1034357635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Th gl STl (AT YT UR) TR T MR 4 I & TG &1 3 71 81 St 5 | fovd= ast §f 9 98 1 9 T 81 STt
Options :

1. % 1299

2. % 1694

3.¢8a4

4.% 1099

Question Number : 53 Question Id : 1034357636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If speed of boat in still water is 18 km/hr and the speed of stream is 8 km/hr, then what is the upstream and downstream speed of the boat
respectively?

Options :

1. # 26 km/hr, 10 km/hr
2. % 10 km/hr, 26 km/hr
3. % 12 km/hr, 24 km/hr
4. % 16 km/hr, 32 km/hr



Question Number : 53 Question Id : 1034357636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fRR 5@ & A1a &1 7R 18 T T/eier § Tt uRT &1 71l 8 fob 4t /5ieT B, df HHsT: 71d B URT & Ufddhd auT YRT & 3% d T 6 82
Options :

1. % 26 fo.H /e, 10 foo 1 /ga

2. ¢ 10 o 1 /&iet, 26 foo it /eia

3. % 12 fo.dit /e, 24 fop ot /eia

4. % 16 fob. Tt /e, 32 fob 4l /eicT

Question Number : 54 Question Id : 1034357637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suraj starts his journey from point Q at 1 p.m. He drives the car at the speed of 50 km/hr for first three hours and complete the remaining journey
at the speed of 20 km/hr. If Rahul starts moving towards Suraj at 6 p.m. from point Q at the speed of 60 km/hr, then at what time will he catch
Suraj?

Options :

1. ¥ 10:45 pm
2. % 9:30 pm
3. % 11:15 pm
4. % 9:00 pm

Question Number : 54 Question Id : 1034357637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO 37O AT forg Q ¥ 1 3IRTE W 3RY Hd1 & | 98 Ugd diF °e 50 fob. 7. /der &t 71fd T SR Iardr g 9uT W I &1 20 fob 1t /eiet ot
Wﬁrﬁéﬁm%l e g forg Q T 6 3RTE W 60 o 1t /deT &1 T T IS B 3R TAHT 3RH BT ], ) 98 TR D! {6y T WR
b g T

Options :

1. ¥ 10:45 3RTG

2. % 9:30 3G




3. % 11:15 WRTa
4. % 9:00 AWMa

Question Number : 55 Question Id : 1034357638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe J can fill a tank in 48 hours and Pipe K can fill the same tank in 72 hours. If both the pipes are opened on alternate hours one at a time and
pipe K is opened for first hour, then in how much time will the tank be completely full?

Options :

1. # 57(1/3) hours
2. % 57(2/3) hours
3. # 58 hours

4. * 59(2/9) hours

Question Number : 55 Question Id : 1034357638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UISY J Uh <hl bl 48 T T HR Fobdl & dUT UISY K I Thl bl 72 T | HR Fbdl & | TS SHI UISUl Bl IR1-SRT ¥ Th-_Ueh °c & forT Jielm
SITT € YT UT3Y K &1 Ugd ©e o forg Wiel ST €, ot <! fova Iwa § Ot +R St

Options :

1. % 57(1/3)9c

2. ¥ 57(2/3) ©c

3. % 53¢

4. % 59(2/9) ©c

Question Number : 56 Question Id : 1034357639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total surface area of a hemisphere is 1848 cm?. What is the radius of this hemisphere?
Options :

1. # 28 cm

2.% 14 cm



3. % 2]l cm

4. % 35 cm

Question Number : 56 Question Id : 1034357639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AT &1 YSIT &6 1848 .2 g1 9 3 ! s | g2
Options :

1. % 28 ..

2. ¢ 1499

3. % 2194

4. % 3570

Question Number : 57 Question Id : 1034357640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of a rhombus is 26 cm. Length of one of its diagonal is 20 cm. Sum of the length of diagonals of this rhombus is equal to the perimeter of a
rectangle. If the difference between length and breadth of rectangle is 6 cm, then what is the area of rectangle?

Options :

1. % 360 cm?
2. % 340 cm?
3. % 320 cm?
4. ¥ 280 cm?

Question Number : 57 Question Id : 1034357640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP THAGYS DI YT 26 9.17. §1 TP U Aol & aTs 20 9.1, 1 3 THAGYS & fAH U1 B! TTaTs &1 AN U M1d o URHTT &
IR 3| Tl MTTd B s dUT AISTs & d1F ol 3R 6 T4, g, ) 3ITId BT &7hd T 52
Options :

1. % 360 QA2




2. % 340 9.0} 2
3. % 320 QA2
4.+ 280 QA2

Question Number : 58 Question Id : 1034357641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the marks obtained by a student in 8 different subjects. The total marks obtained by the student is 600. Marks
obtained in a particular subject is shown as a percent of total marks obtained in all these 8 subjects.

4%

Which of the following statement is correct?

I. The ratio of marks obtained in subject D to the marks obtained in subject Eis 1 : 6.
II. The average of marks obtained in subject A, B, C and H are 41.

II1. The central angle formed by sectors F and G together are 86.4 degree.

Options :

1. % Iand II

2. % Il and III
3.% [and III

4. % I Il and III

Question Number : 58 Question Id : 1034357641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e e mar Ui 9T ue o1 gRI 8 fafi fawdl & U il ol axiia 5 | BT §R1 W $d 3id 600 3 | U AR fawa & ured 3iep! &t g4
Tt 8 fawal o o o il & ufawid & vu A cfar mar g |

4%

fofafiad 7 @ oF 91wy I8t 82

1. fqwa D 7 U il &1 fawg £ & U Sie! ¥ Ui 1: 6 ]
1. faS7 A, B, C TUT H # UT 3ieh! T 39d 41 B

111, YR F TUT G GRT T ST 771 H<1T HIUT 86.4 fSU B
Options :

1. % 1qUT I

2. % [ AU

3. ¢ [ QUTIII

4. % I, I1dYT 1T

Question Number : 59 Question Id : 1034357642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of cars sold by 7 different companies.



700
600

650
400 550

300

The number of cars sold by P is how much percent more than the number of cars sold by T?
Options :

1. #* 50 percent

2. % 100 percent

3. % 10 percent

4. % 150 percent

Question Number : 59 Question Id : 1034357642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fear man Y fom 7 At ufat gRT 9= 18 BRI &) T3 B el g |
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300

P GRT S T8 BRI ! TJAT, T GRT 1 T8 BRI bt T I fobd=11 ufa=rd 3ifdew g2
Options :

1. % 50 Ufcr=rd

2. ¢ 100 Ufa=Id

3. % 10 Ufard

4. % 150 gfa=rd

Question Number : 60 Question Id : 1034357643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the cost price and selling price of 6 articles.
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Al A2 A3 A4 A5 A6

m Cost price O Selling price

Profit = Selling price — Cost price

P1 = The average value of profit of all 6 articles.

P2 = The difference between total cost price and total selling price of all 6 articles.
What is the value of (P2/P1)?

Options :
1. % 4
2.% 3
3.6
4. % 2

Question Number : 60 Question Id : 1034357643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e gus fod 6 axg el & %a 0 SR sy I &l e=ifdr |
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P1 = Toft 6 a3 & ATH BT S oA |

P2 = quft 6 TGS & T BT Iod 3R Fd fahd Yo & aid &1 3R |

(P2/P1) ST HIF &1 82
Options :

1. % 4

2. %3

3.6

4. % 2

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :

General English
4
103435280
0
0
No
No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
General English

Section Id : 103435321

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 103435440

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1034357644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I am too glad to(1)/ meet you after (2)/ so many days (3)/.No error (4)

Options :
1. 1
2. %2
3.%3
4. % 4

Question Number : 61 Question Id : 1034357644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I am too glad to(1)/ meet you after (2)/ so many days (3)/.No error (4)

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 62 Question Id : 1034357645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Educational platforms can be a productive way (1)/for parents to use technology (2)/to support there child’s early learning (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 62 Question Id : 1034357645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Educational platforms can be a productive way (1)/for parents to use technology (2)/to support there child’s early learning (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4



Question Number : 63 Question Id : 1034357646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
Satish, could you beaten the bear?

Options :
1. # had you beat

2. % could you have beating

3. % could you beat

4. % No improvement

Question Number : 63 Question Id : 1034357646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.
Satish, could you beaten the bear?

Options :

1. # had you beat

2. % could you have beating
3. % could you beat

4. % No improvement

Question Number : 64 Question Id : 1034357647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
You would had been prepared for the exam.

Options :
1. ¥ would have been prepared for

2. % would have been preparing to



3. % would had prepared for

4. % No improvement

Question Number : 64 Question Id : 1034357647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No

improvement’ as your answer.
You would had been prepared for the exam.

Options :

1. ¥ would have been prepared for
2. % would have been preparing to
3. % would had prepared for

4. % No improvement

Question Number : 65 Question Id : 1034357648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Jane gets pretty when she is drunk.

Options :

1. # innate
2. % glowing
3. ¥ vicious
4, % sulk

Question Number : 65 Question Id : 1034357648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Jane gets pretty when she is drunk.

Options :

1. # innate



2. % glowing
3. ¥ vicious
4, % sulk

Question Number : 66 Question Id : 1034357649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Bread and butter my favourite snack for the breakfast.

Options :
1. * make
2. % were
3. % are
4.9 is

Question Number : 66 Question Id : 1034357649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Bread and butter my favourite snack for the breakfast.

Options :
1. * make
2. % were
3. % are
4.9 is

Question Number : 67 Question Id : 1034357650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.
When grandfather first

P: Showed me the pond world
Q: Sat for an hour lazily



R: He chose a dry place in the shade of
S: An old peepul tree where we

Options :

1. ¥ PRSQ
2. % QRSP
3. % PQRS
4. % RQPS

Question Number : 67 Question Id : 1034357650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.
When grandfather first

P: Showed me the pond world

Q: Sat for an hour lazily

R: He chose a dry place in the shade of

S: An old peepul tree where we

Options :

1. ¥ PRSQ
2. % QRSP
3. % PQRS
4. % RQPS

Question Number : 68 Question Id : 1034357651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

P: For instance, they can provide information to prevent traffic jams.

Q: They can also solve the most complex mathematical problems.

S: Computers are capable of doing extremely complicated works.

R: These machines can be put to varied uses in daily life as well scientific researches.
Options :

1. ® SQRP

2. % SRPQ



3. % RQSP
4. % QRSP

Question Number : 68 Question Id : 1034357651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in correct order.

P: For instance, they can provide information to prevent traffic jams.

Q: They can also solve the most complex mathematical problems.

S: Computers are capable of doing extremely complicated works.

R: These machines can be put to varied uses in daily life as well scientific researches.

Options :

1. * SQRP
2. % SRPQ
3. # RQSP
4. % QRSP

Question Number : 69 Question Id : 1034357652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Waver

Options :

1. * Waiver
2. % Voucher
3. ¥ Vacillate

4. % Vaccinate

Question Number : 69 Question Id : 1034357652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Waver



Options :

1. * Waiver
2. % Voucher
3. ¥ Vacillate

4. % Vaccinate

Question Number : 70 Question Id : 1034357653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Acrimonious

Options :

1. # Slavish

2. ¥ Gentle

3. % Mordant
4. % Morbid

Question Number : 70 Question Id : 1034357653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Acrimonious

Options :

1. # Slavish

2. ¥ Gentle

3. % Mordant
4. % Morbid

Question Number : 71 Question Id : 1034357654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. ¥ Harmonious
2. % Harmonous
3. # Harmonus

4. % Harmonyus

Question Number : 71 Question Id : 1034357654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Harmonious

2. % Harmonous

3. % Harmonus

4. % Harmonyus

Question Number : 72 Question Id : 1034357655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pictureske

2. ¥ Picturesque

3. #* Picturesck

4. % Pictureasque

Question Number : 72 Question Id : 1034357655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Pictureske



2. ¥ Picturesque
3. % Picturesck

4. % Pictureasque

Question Number : 73 Question Id : 1034357656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
High and mighty

Options :

1. ¥ Arrogant

2. % Respectful
3. ¥ Admiring

4. % Prominent

Question Number : 73 Question Id : 1034357656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
High and mighty

Options :

1. ¥ Arrogant

2. % Respectful
3. ¥ Admiring

4. % Prominent

Question Number : 74 Question Id : 1034357657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To put heads together

Options :
1. % To destroy the work



2. % To consult together
3. % To share the responsibilities
4. % To put no effort

Question Number : 74 Question Id : 1034357657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
To put heads together

Options :

1. # To destroy the work

2. % To consult together

3. % To share the responsibilities
4. % To put no effort

Question Number : 75 Question Id : 1034357658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One that is in a war-like mood

Options :

1. ¥ Belligerent
2. % Bereavement
3. # Conference
4. ® Resilient

Question Number : 75 Question Id : 1034357658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One that is in a war-like mood

Options :



1. ¥ Belligerent
2. % Bereavement

3. # Conference

4. % Resilient

Sub-Section Number : 2
Sub-Section Id : 103435441
Question Shuffling Allowed : Yes

Question Id : 1034357659 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed, hypnosis has been used as a method in all three. Its scientific
history began in the latter part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the treatment of patients in
Vienna and Paris. Because of his mistaken belief that hypnotism made use of an occult force (which he termed “animal magnetism”) that flowed
through the hypnotist into the subject, Mesmer was soon discredited; but Mesmer’s method—named mesmerism after its creator—continued to
interest medical practitioners. A number of clinicians made use of it without fully understanding its nature until the middle of the 19th century,
when the English physician James Braid studied the phenomenon and coined the terms hypnotism and hypnosis, after the Greek god of sleep,
Hypnos. Hypnosis attracted widespread scientific interest in the 1880s. Ambroise-Auguste Liébeault, an obscure French country physician who
used mesmeric techniques, drew the support of Hippolyte Bernheim, a professor of medicine at Strasbourg. Independently they had written that
hypnosis involved no physical forces and no physiological processes but was a combination of psychologically mediated responses to suggestions.
During a visit to France at about the same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of hypnosis for
neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics recall disturbing events that they had apparently forgotten. As he
began to develop his system of psychoanalysis, however, theoretical considerations—as well as the difficulty he encountered in hypnotizing some
patients—Ied Freud to discard hypnosis in favour of free association.

Despite Freud’s influential adoption and then rejection of hypnosis, some use was made of the technique in the psychoanalytic treatment of
soldiers who had experienced combat neuroses during World Wars I and II. Hypnosis subsequently acquired other limited uses in medicine.
Various researchers have put forth differing theories of what hypnosis is and how it might be understood, but there is still no generally accepted
explanatory theory for the phenomenon.
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The passage mainly talks about:
Options :



1. ¥ The history and early research of hypnosis.
2. % Application of hypnosis.

3. # The present state of hypnosis.

4. % Hypnosis and its loopholes.
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Who coined the term hypnotism after the Greek god of sleep?
Options :

1. #® Hippolyte Bernheim

2. ¥ James Braid

3. # Franz Mesmer

4. % Sigmund Freud
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According to the given passage, which of the following statements is incorrect?

Options :

1. # Sigmund Freud used hypnosis to help neurotics recall disturbing events that they had apparently forgotten.
2. % Hypnosis subsequently acquired other limited uses in medicine.

3. ¥ The scientific history of hypnosis began in the latter part of the 17th century.

4. % There is still no generally accepted explanatory theory for the phenomenon called hypnosis.

Question Number : 79 Question Id : 1034357663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs is/are correctly matched?

I. Franz Mesmer- German Physician

II. Sigmund Freud- French Physician

III. Ambroise-Auguste Liébeault- Austrian Physician

Options :



1.4 Only I

2. % Iland III
3. % Only II

4, % [, 1l and III
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Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word- ‘impressed’ as used in the passage?
Options :

1. * Grieved

2. % Beguiled

3. * Concerned

4. ¥ Dazzled

Question Id : 1034357659 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
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Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

The history of hypnosis is as ancient as that of sorcery, magic, and medicine; indeed, hypnosis has been used as a method in all three. Its scientific
history began in the latter part of the 18th century with Franz Mesmer, a German physician who used hypnosis in the treatment of patients in
Vienna and Paris. Because of his mistaken belief that hypnotism made use of an occult force (which he termed “animal magnetism”) that flowed
through the hypnotist into the subject, Mesmer was soon discredited; but Mesmer’s method—named mesmerism after its creator—continued to
interest medical practitioners. A number of clinicians made use of it without fully understanding its nature until the middle of the 19th century,
when the English physician James Braid studied the phenomenon and coined the terms hypnotism and hypnosis, after the Greek god of sleep,
Hypnos. Hypnosis attracted widespread scientific interest in the 1880s. Ambroise-Auguste Liébeault, an obscure French country physician who
used mesmeric techniques, drew the support of Hippolyte Bernheim, a professor of medicine at Strasbourg. Independently they had written that
hypnosis involved no physical forces and no physiological processes but was a combination of psychologically mediated responses to suggestions.
During a visit to France at about the same time, Austrian physician Sigmund Freud was impressed by the therapeutic potential of hypnosis for
neurotic disorders. On his return to Vienna, he used hypnosis to help neurotics recall disturbing events that they had apparently forgotten. As he
began to develop his system of psychoanalysis, however, theoretical considerations—as well as the difficulty he encountered in hypnotizing some
patients—Iled Freud to discard hypnosis in favour of free association.

Despite Freud’s influential adoption and then rejection of hypnosis, some use was made of the technique in the psychoanalytic treatment of
soldiers who had experienced combat neuroses during World Wars I and II. Hypnosis subsequently acquired other limited uses in medicine.
Various researchers have put forth differing theories of what hypnosis is and how it might be understood, but there is still no generally accepted
explanatory theory for the phenomenon.
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The passage mainly talks about:

Options :

1. ¥ The history and early research of hypnosis.
2. % Application of hypnosis.

3. # The present state of hypnosis.

4. % Hypnosis and its loopholes.

Question Number : 77 Question Id : 1034357661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who coined the term hypnotism after the Greek god of sleep?
Options :

1. #® Hippolyte Bernheim

2. % James Braid

3. # Franz Mesmer

4. #% Sigmund Freud
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According to the given passage, which of the following statements is incorrect?

Options :

1. #® Sigmund Freud used hypnosis to help neurotics recall disturbing events that they had apparently forgotten.
2. ® Hypnosis subsequently acquired other limited uses in medicine.

3. ¥ The scientific history of hypnosis began in the latter part of the 17th century.

4. ® There is still no generally accepted explanatory theory for the phenomenon called hypnosis.
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Which of the following pairs is/are correctly matched?
I. Franz Mesmer- German Physician

II. Sigmund Freud- French Physician

III. Ambroise-Auguste Liébeault- Austrian Physician

Options :

1. ¥ Only I

2. % Il and III
3. % Only II

4. % 1, II and III
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What is the synonym of the word- ‘impressed’ as used in the passage?

Options :
1. # Grieved
2. % Beguiled
3. * Concerned
4. % Dazzled
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1. % IS : dgdT
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4. % 33T : gl
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Question Number : 101 Question Id : 1034357686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the process of uterine, cervical and other changes that brings on labour.
I. Operation
II. Parturition

Options :

1. % Only I

2. % Only II

3. % Bothland II
4. % Neither I nor II
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is the newborn baby, up to 4 week’s old.

I. Infant
II. Neonate



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. % Neither I nor II
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What is Brazelton Neonatal Behavioural Assessment Scale (NBAS)?

Options :

1. ¥ Neurological and behavioral test to measure neonate’s responses to the environment

2. % Standard measurement of a newborn’s condition, it assesses pulse, activity and respiration
3. % Ttis used to specify the acidity or basicity of an aqueous solution

4. % Tt describe power and intensity of sound waves

Question Number : 103 Question Id : 1034357688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Which of the following is correct about sleep disturbance and disorder?
L. It is a bedtime struggle.
II. Walking and talking during sleep is the example of sleep disorder.

Options :

1. % Only 1

2. % Only II

3. % Both I and 11
4. % Neither I nor II
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Correct Marks : 1 Wrong Marks : 0.25

In the context of childhood medical problems, which of the following statement is correct?
I. Acute medical conditions — Occasional and short-term conditions, such as infections, allergies and warts.
II. Chronic medical conditions — Physical, developmental, behavioral and emotional conditions requiring special health services

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Correct Marks : 1 Wrong Marks : 0.25

I Pt i grawnet & e ), Fgfafed 7 9 &1 91 w39 98t 82

1. g Fafere Rufaat - sifafid iR sreamiferes Rufaw, S Tehaur, Tash SR JiT|

1. Tt fRafean fRufaat - IR, foeraras, aragiRe 3R Gaurds SR} fufaar S for faviy warea Jarsii &) sravgewdr gl &
Options :

1. % Had 1

2. % HAd I

3. ¢ 1 UT I Gl

4. % JIGIIATRII

Question Number : 106 Question Id : 1034357691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of physical and mental health, what is eating disorder?
I. Anorexia nervosa and bulimia nervosa are eating disorders that involve abnormal patterns of food intake.
II. Bulimia nervosa is characterized by self-starvation.

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II
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is the study of cognitive development that is concerned with basic mechanics of learning.
Options :
1. ¥ Behaviorist approach
2. % Psychometric approach
3. % Piagetian approach
4. % Bayley approach
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Which behaviour is goal-oriented and adaptive to circumstances and conditions of life?
Options :

1. # Planned behaviour

2. % Playful behaviour

3. # Instinctive behaviour

4. ¥ Intelligent behaviour

Question Number : 108 Question Id : 1034357693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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In the context of sleep problem, what is enuresis?
I. The act of getting up and walking while asleep
II. Repeated urination in clothing or in bed

Options :

1. % Only I

2. % Only II

3. % Both I andII



4. % Neither I nor II
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Which of the following statement describes Artistic Development?
L. It reflects maturation of the brain as well as of the muscles.
II. The switch from abstract form and design to depicting real objects marks a fundamental change in the purpose of children’s drawing.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II
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In the context of Nutrition, which of the following pair is correctly matched?
I. Malnutrition — It results from an inherited tendency, aggravated by too little exercise and too much, or the wrong kind of food.
II. Obesity — Under nourished children live in poverty and suffer other kinds of environmental deprivation.

Options :

1. % OnlyI

2. % Only Il

3. % BothIand Il
4. % Neither I nor II
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is realization that one’s existence and functioning are separate from those of other people and things.
Options :
1. # Self-conscious emotions
2. % Self-evaluation emotions
3. ¥ Sclf-awareness

4. % Self-motivation
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Which of the following defined as a person’s characteristic, biologically based way of approaching and reacting to people and situations?
Options :

1. ¥ Adjustment

2. % Replacement

3. ¥ Excitement

4. ¥ Temperament

Question Number : 113 Question Id : 1034357698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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are preconceived generalization about male or female role behavior.
Options :
1. ¥ Gender Stereotypes
2. # Gender-Typing
3. #® Gender-Identity
4. # Gender-Constancy

Question Number : 114 Question Id : 1034357699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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In the context of psychosocial development in childhood, what is initiative versus guilt?
I. It is Erikson’s third stage in psychosocial development.



II. In this stage children balance the urge to pursue goals with moral reservations that may prevent carrying them out.
Options :

1. % OnlyI

2. % Only II

3. % Both I and I

4. % Neither I nor II
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In the context of types of play, which of the following pair is correctly matched?
I. Functional play — Play involving repetitive muscular movement
II. Pretend play — Play involving use of objects or materials to make something

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor I1

Question Number : 116 Question Id : 1034357701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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In the context of Discipline, which of the following statement is correct?

I. Power assertion is the disciplinary strategy designed to discourage undesirable behavior through physical or verbal enforcement of parental
control.

II. Inductive technique is the disciplinary techniques designed to induce desirable behavior by appealing to a child’s sense of reason and fairness.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 117 Question Id : 1034357702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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In the context of family structure, which of the following statement is correct?
I. In open adoption, the birth parent and the adoptive parents did not know each other’s identities.
II. One-parent families result from divorce or separation, unwed parenthood or death.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II
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In which form of the government, does the ruler has the power to make decisions and run the government?
Options :

1. ¥ Democracy

2. # Military Coup

3. % Oligarchy

4. ¥ Monarchy
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refers to foreigners who come to a country specifically for medical treatment at hospitals that offer world—class facilities at a lower
cost.

Options :

1. ¥ Medical Tourists
2. % Medical Guides

3. % Medical Guests

4. % Medical Officers
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Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
Discipline2
Section Id : 103435324
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 103435445
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1034357706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Nepal succeeded in putting an end to the powers of the King?
Options :

1. % 2004

2. % 2005

3. 92006

4. % 2007

Question Number : 121 Question Id : 1034357706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gy, AuTd IS @1 AfFTTT B! THTE B H G 5T UI?
Options :

1. # 2004

2. % 2005

3. ¥ 2006

4. % 2007

Question Number : 122 Question Id : 1034357707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hundreds of Indian language newspapers were used by many Indian political or social figure to disseminate nationalist and reformist ideas among
the people during the 19th century. Which of the following pairs of ‘Newspaper — Its Language’ is NOT correct?

I. Amrit Bazaar- Bengali

II. Sudharak— Punjabi

III. Koh —I — Noor- Hindi

Options :



1. % Only I
2. % JTand II
3. % Il and III
4. % T and III

Question Number : 122 Question Id : 1034357707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 31d SR~ STl
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Options :

1. % dhad |

2. % 1Y

3. ¢ 11 AU

4. % 1dUT 11

Question Number : 123 Question Id : 1034357708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct about Costa Rican approach towards healthcare?
L. It decided to spend its money on health education instead of on army
II. The government of Costa Rica provides basic amenities to its people.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor I1

Question Number : 123 Question Id : 1034357708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. ¢ 1 U1 Gl
4, % qIBIIATRII

Question Number : 124 Question Id : 1034357709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a means to bring about equality and equitable outcomes.
Options :
1. * Inclination
2. % Proclivity
3. * Tendency
4. ¥ Equity

Question Number : 124 Question Id : 1034357709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 3R =TT RO A &1 U 18- 6|
Options :
1. % Jpld
2. % QI
3. % ygft

4.« HHAT



Question Number : 125 Question Id : 1034357710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How should teacher promote gender equality?

I. They should consciously monitor their own conduct.

II. They should avoid sexist bias in the use of their language.

III. They should avoid tendency to assign cleaning up tasks exclusively for girls.

Options :

1. * Tand II

2. % Iland III
3. % Tand III
4.+ 1,11 and 111

Question Number : 125 Question Id : 1034357710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.= 1dYT I

2. % 11 dYTIII

3. % [ dUTII

4.« 1 11 dYT 11

Question Number : 126 Question Id : 1034357711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trying to listen from a closer distance may be the symptom of which impairment?
I.Visual impairment
II. Hearing impairment

Options :



1. % OnlyI

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 126 Question Id : 1034357711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had I

2. Had I

3. % [ QUM

4. % AT

Question Number : 127 Question Id : 1034357712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the important aspect of universalisation of elementary education?
I. Access

II. Enrolment

III. Retention of all children in 6 to 14 years of age

Options :

1. #* Tand II

2. % Il and IIT
3. % Tand I

4. % 1,11 and 11T

Question Number : 127 Question Id : 1034357712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

. % IdYri

2. % I1 dYUTIII
3. % I dUT I
4.« 1 11 dYTIII

Question Number : 128 Question Id : 1034357713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the challenges for educating children with disabilities in regular classroom?
I. Negative attitudes of teachers and community
II. Non-disabled peers and their parents

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor I1

Question Number : 128 Question Id : 1034357713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had I

2. % had I



3. 13U 11 Sl
4. % IBTIATBII

Question Number : 129 Question Id : 1034357714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of Inclusion Education in India, which of the following statement is correct?

I. The ministry of external affairs implemented a national action plan for Integrated Education for Disabled Children.

II. In 2009-10, Integrated Education for Disabled Children was revised and named as ‘Inclusive Education of the Disabled at the Secondary
Stage’.

Options :

1. % Only I

2. % Only II

3. % BothIand II

4. % Neither I nor II

Question Number : 129 Question Id : 1034357714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. HAd I

3. % [ gUT I Gl
4. % FIBIIATBII

Question Number : 130 Question Id : 1034357715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year, Rabindranath Tagore founded Santiniketan?



Options :
1. # 1905
2. % 1901
3. % 1899
4. % 1907

Question Number : 130 Question Id : 1034357715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 1905

2.9 1901

3. % 1899

4. = 1907

Question Number : 131 Question Id : 1034357716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following learning approaches, textbook is considered as the main source of learning?
I. Subject — Centered Approach
II. Learner — Centered Approach

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 131 Question Id : 1034357716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had |

2. % HAAII

3. % [ UGl

4, % BRI

Question Number : 132 Question Id : 1034357717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characteristics of project method of education is correct?
I. Learning takes place naturally.
II. The success of this method lies in the students understanding of its objectives.

Options :

1. % OnlyI

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 132 Question Id : 1034357717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. ¢ 1 U1 Gl
4, % qBIIATRII




Question Number : 133 Question Id : 1034357718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of groups can be formed in multi-grade situation?
I. Grade — based grouping

II. Ability — based grouping

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II

4. * Neither I nor II

Question Number : 133 Question Id : 1034357718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3.« 1 UT I Gl
4. % FIBIATBI

Question Number : 134 Question Id : 1034357719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who introduced IDEAL model as a problem solving model for teaching and learning?
Options :

1. ¥ Bransford

2. % Jean Piaget

3. % John Locke



4. % Paulo Freire

Question Number : 134 Question Id : 1034357719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ SBis

2. % S o

3. % Gl ol

4. % U3l AR

Question Number : 135 Question Id : 1034357720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following assumptions are reflected by folk pedagogy about the children?
I. Egocentric and in need of socialization
II. Empty vessels to be filled with knowledge that only adults can provide

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 135 Question Id : 1034357720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % Had Il
R AGUIIEGI
4. % qIgIATIBI I

Question Number : 136 Question Id : 1034357721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tools of Information and Communication Technology may be in the form of
I. audio
II. visual

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I1

Question Number : 136 Question Id : 1034357721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % Had II
3. [T I gl
4. % BT I

Question Number : 137 Question Id : 1034357722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is in the correct sequence in the context of the computer?



Options :

1. # Input, Programme, Storage, Output
2. # Programme, Output, Storage, Input
3. % Output, Storage, Programme, Input
4. % Input, Programme, Output, Storage

Question Number : 137 Question Id : 1034357722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ZYc, URIM, WIS, 33cYc

2. % TRIMH, 313YC, WIS, 7Y

3. % 3{I3cyc, TR, YU, 39Yc

4. ¥ $IYC, UM, 313cYC, RSl

Question Number : 138 Question Id : 1034357723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a classroom internet can be used mainly for which purposes?
I. Information
II. Interaction
II1. Sociability

Options :

1. % OnlyI

2. % Il and III
3. % Iand III
4.+ 1,1 and I1I

Question Number : 138 Question Id : 1034357723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. ® (1Y

3. % [T

4. 1, 1 QYT I

Question Number : 139 Question Id : 1034357724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is copying or reproducing other’s action or behaviours.
I. Agitation
II. Imitation
Options :
1. % OnlyI
2.% Only II
3. % BothIand Il
4. % Neither I nor II

Question Number : 139 Question Id : 1034357724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I
2. Had Il
3. % [gYT I el




4. % AIBTIATBIII

Question Number : 140 Question Id : 1034357725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the effects of imitation?
I. Modelling

II. Inhibitory dis-inhibitory

III. Eliciting

Options :

1. % Only I

2. % Il and III

3. % Tand III

4. % 1,11 and 111

Question Number : 140 Question Id : 1034357725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had I

2. % I dYTIII
3. % I dUT I
4.« 1 11 dYTIII

Discipline3
Group Number : 8
Group Id : 103435284



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Discipline3

Section Id : 103435325

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 103435446

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1034357726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following features are involved in problem solving method?

I. A goal to be reached.

II. A felt difficulty/need to reach the goal.

III. Reaching the goal or arriving at satisfactory solution to the problem at hand.

Options :



1. * Tand II

2. % Iland III
3. % Tand III
4.+ 1,11 and 111

Question Number : 141 Question Id : 1034357726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1991

2. % [IAYTII

3. % QYU

4. ¥ LI AYTII

Question Number : 142 Question Id : 1034357727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of co-operative learning, which of the following statement is correct?

I. This learning is a specific large group approach that incorporates democratic process, individual accountability, equal opportunity and group
rewards.

II. The cooperative learning model was developed to achieve at least three important instructional goals: academic achievement, acceptance of
diversity and social skill development.

Options :

1. % OnlyI

2.% Only II

3. % Bothland Il
4. # Neither I nor 11



Question Number : 142 Question Id : 1034357727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. ¢ Had Il

3. % [ QYT g

4, % BRI

Question Number : 143 Question Id : 1034357728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
damage causes problems in speech comprehension.
Options :
1. * Poma’s area
2. % Broca’s area
3. ¥ Wernicke’s area

4. % Nava’s area

Question Number : 143 Question Id : 1034357728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B & S HRU b a1y H THET Bl B
Options :
1. % OHT % &
2. % SipI & &
3. afH® & &
4. % AP &F



Question Number : 144 Question Id : 1034357729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which age group children can tell the difference between fact and fiction?
Options :

1. # 1 to 3 years

2. % 3 to 5 years

3. % 5to 7 years

4. % 8 to 10 years

Question Number : 144 Question Id : 1034357729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% 1939y

2. %3959y

3.% 5979y

4.8 10TY

Question Number : 145 Question Id : 1034357730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of Phonics, which of the following statement is correct?
I. This is used to teach children the names of the letters.
II. This is used to teach children the sounds of the letters.

Options :

1. ® Only I

2. % Only II

3. % Bothland Il
4. % Neither I nor I1



Question Number : 145 Question Id : 1034357730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hifeg & G #, fFufafad & @ &1 a1 By 98l 82

1. 39T YA I=d] I 31eR} & A Ram & forg fosan sran 3|

1L 39T STAIT S &) &R} o1 MaTe e & fore frar Sran g1
Options :

1. % Hadl

2. ¥ Had Il

3. % [ UGl

4, % qIGIIATRII

Question Number : 146 Question Id : 1034357731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following language belong to the Tibeto-Burman family?
I. Bodo
II. Mizo

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 146 Question Id : 1034357731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁgﬁé@aﬁ@raﬁq@ HTST frssrcht-s IRaR & Hefed 82
L.

1. i

Options :



1. % Hadl
2. % Had II
3. [T I gl
4. % BT

Question Number : 147 Question Id : 1034357732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘mother tongue’ usually refers to the language spoken at
Options :

1. ¥ Home

2. % Seminar

3. % University

4. % Company

Question Number : 147 Question Id : 1034357732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeG HIGHIOT SHAR TR TR &l o aTelt HTST 1 Haid Hdl 5|
Options :

1. ¥ IR

2. % IR

3. % fayfaarcy

4. % Ut

Question Number : 148 Question Id : 1034357733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Tamil language was declared as a classical language?
Options :

1. % 2002



2. % 2003
3. ¥ 2004
4. = 2005

Question Number : 148 Question Id : 1034357733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg oy T HTST 1 Teh QIR HINT o 0 H ¥ fobar 7ram umo
Options :

1. = 2002

2. % 2003

3.9 2004

4, % 2005

Question Number : 149 Question Id : 1034357734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of Hindi, which of the following statement is correct?
I. The Hindi is not influenced by other dialects of Hindi.

II. Khari Boli is the form of Hindi which was used to write literature.
III. Nagri Hindi is considered to be standard Hindi.

Options :

1. % Only I

2. % Il and III
3. % Only III

4. % 1, Il and III

Question Number : 149 Question Id : 1034357734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe=t & G 8, Fufifad & @ & 91 $y= 98t 22
1. &l B ot s siferat @ ywifaa et g1



11 TS Al i3l &1 98 =4 & foraeT SuaiT aifgd fora & fore fosan S i
111 AR} &) Y A R AT S g |

Options :

1. Had |
2. % I dYT I
3. % ohad III

4, % I, 11 dYT 1T

Question Number : 150 Question Id : 1034357735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of length of sides, which of the following is not a type of triangle?
Options :

1. % Isosceles triangle

2. % Equilateral triangle

3. % Scalene triangle

4. ¥ Obtuse angled triangle

Question Number : 150 Question Id : 1034357735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y137 B AT & MR W FEfiied & 9 SH-91 By &1 U6 THR 81 82
Options :

1. % gHfgarg Ay

2. % guqg AYS

3. % fawwHerg Ay

4.« 3{fYPH B Y

Question Number : 151 Question Id : 1034357736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements doesn’t represent the concept of measurement in our daily life?
I. The length of the cloth required to make the shirt
II. The weight of vegetables or groceries required to be purchased from daily market

Options :

1. % OnlyI

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 151 Question Id : 1034357736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafad 7 @ &9 91 HUF AR A% Sitaw | ATYA B S[@yRUN &1 Ul T8 &dr g2
1. HHIW 1 & ol HUS B IS dals

11 ¢ SR T Wi & e 3nawus fesrdl a1 fem & I &7 R

Options :

1. % Hadl
2. % HAd I
3. % [ QU1 gHl
4./ ABIATRII

Question Number : 152 Question Id : 1034357737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following figures can be drawn using ruler and compass?
I. Perpendicular bisector of a given line segment
II. Angle of measure 60 degrees, its multiples and submultiples

Options :

1. #* Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II



Question Number : 152 Question Id : 1034357737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR SR HUN BT SUINT HRh ARG & § DHIF- M T SR S Febe! 52
1. AT T e P A g HSTS

11. 60 FSUt AT &7 PivT, THF U SR IO

Options :

1. % Hadl
2. % Had II
3. [T I gl
4. % BT

Question Number : 153 Question Id : 1034357738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Distance from fingertips of left hand to right hand with arms outstretched is known as
Options :

1. # Hand

2. % Cubit

3. ¥ Fathom

4. # Inch

Question Number : 153 Question Id : 1034357738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT Y TrelTeh) aT4 BT T STIferal & 31 RR 3 1 g1y ot JTIferal & ity R aep &t g Hgal gl

Options :
1. % 8l
2. % Ffse
3. ¢ B
4. % 39



Question Number : 154 Question Id : 1034357739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding ‘collection of data’?

I. ‘Runs scored by Tendulkar in different innings of a Test series are 16, 56, 25, 8, 3, 33, 23 and 107.” This given statement represents Raw Data.
II. “The students of class V are preparing for a picnic. The class teacher asked them to give their choice of fruits out of apple, Orange, Banana or
Guava and then she noted it.” The data collected in this statement is collected from secondary source.

Options :

1.4 Only I

2. % Only II

3. % BothlandII
4. % Neither I nor II

Question Number : 154 Question Id : 1034357739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST H AU & o H FEfRad o 9 &F 91 H3= 98 52

I 'a'g%obe GRT U <X SRael o1 fafir il § 91T U ¥4 16, 56, 25, 8, 3, 33, 23 3R 107 & I' I8 0T 741 B TUT U Sl o1 UfaHida
AT

IL. BTV & B U Uhe Bt R # e § | Hafl e A I8 A9, YT, Hal I7 3FReG B I 370! U BT Hd gd & ol Hal 3R
fh I e o forn 1 59 Sy § Uend far ar Se1 Mur 9id 3 ued fhar a3 |

Options :

1. BHad |

2. % HaAd I

3. % [ QU1 gHl

4. % AIBTIATBIII

Question Number : 155 Question Id : 1034357740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In environmental studies class, a teacher was using ‘pair — share’ technique of cooperative learning. What are the steps to implement this
technique?



I. Don’t pair up with another child
II. Individual student responds to teacher’s query

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. % Neither I nor II

Question Number : 155 Question Id : 1034357740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATaRUT 31e0a Tl § T R1erd Tgan SIRTH IUNTH &1 sifsdl | SieT ddb-1d BT YIRT B XGT AT §F ddb-i1d I a1 HR- o [e1g
1 HeH 331 U 52

I QR S & iy Shie! A &Y

1. STfHITT BT 1181 b U BT IR a1 3

Options :

1. % $Had |

2. Had Il

3. % [ UGl

4. % GBI

Question Number : 156 Question Id : 1034357741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding an educational activity in environmental studies?
L. It should be safe for the students

II. It should be real life based and enjoyable for the students

II1. It should involve all students

Options :

1.9 1, II and III
2. % Only III

3. % Tand II

4. % Only II



Question Number : 156 Question Id : 1034357741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TataRur T § Afére nfafafy & Tef A Fofafed d P ar sy w8t 82
1. I8 B & ford JRf&rd g1 =1y

11. I8 BT & forw arafde Siaw snutld SiR 3-eeris g1 a1y

111, 394 g4t S o1 WHA H1 18T

Options :

1. ¥ 1, 11 QYT I
2. % PHad I
3.% 19Ul

4, % Had Il

Question Number : 157 Question Id : 1034357742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a strength of environmental studies?

Options :

1. ® Chapters begin with key questions initiating children into thinking and constructing their own knowledge
2. ¥ Contents of the environmental studies are not drawn from the children’s own environment

3. # The contents of the environmental studies are organised thematically

4. % Environmental studies provides scope for children’s expressions — Oral and written and other creative expressions, etc.

Question Number : 157 Question Id : 1034357742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfeRad & @ o W afaror sremg &t dred 81 82

Options :

1. % 3O S Bl Wi MR 30 W8 & I BT AT B o o7T L= A a1 Hedqul Uil ¥ L= 81d &
2. ¢ GafaRT SR &t IRl a=di & 31U THieRUT I T8l ol 718 §

3. % TOfaRUT ST & YRR & fawrTd U ¥ afyd fear S g




4. % TR AT =l 1 ifiufdd & T SR U™ &vdl § - AR 3R farfad 8k o a-aTss siftaafaaat, onfe |

Question Number : 158 Question Id : 1034357743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subject is NOT include under the Social Science subjects?
Options :

1. % Economics

2. ¥ Mathematics

3. % History

4. % Geography

Question Number : 158 Question Id : 1034357743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffed o 9 o= a1 fawa g o fawal & siaeid 2 =&l giar g2
Options :

1. % SR

2. ¢ 0

3. % gfder

4. % Ild

Question Number : 159 Question Id : 1034357744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of current social system and phenomena, which of the following statement is correct?
L. It is a fast-growing society based on rapid development of science and technology.
II. Complexity, heterogeneity in many spheres of life characterize the current society.

Options :

1. % OnlyI

2. % Only II

3. % Both I and I



4. % Neither I nor II

Question Number : 159 Question Id : 1034357744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT SaaRT 3R aRRgersif & Teu o, fafafed & @ o W 3= 98 /2
1. T8 fagm 3R Wit & doft § faer R 3metikd Te doft ¥ d¢ar THS 2
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Options :

1. % Hadl

2. % HAd I

3. ¢ 1 UT I Gl

4, % qIBIIATRII

Question Number : 160 Question Id : 1034357745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the context of History Subject, which of the following statement is correct?
I. It is interdisciplinary in nature
I It is different and separate from other subjects with similar field of study

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 160 Question Id : 1034357745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i fawa & He #, RafaRed § 3 &F 91 3 981 82
1. g8 Udia 8 sia-fawa §

11. I8 35T & JHH & dTel 3 fawdl ¥ ofe g



Options :

1. ¥ $Had |
2. % Had Il
3. % [ UGl
4. % GBI

Discipline4
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Group Id : 103435285
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Group Minimum Duration : 0
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Group Marks : 20
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Discipline4
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Number :



Sub-Section Id : 103435447
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 1034357746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can help children with autism?
Options :

1. * Pop art

2. % QGlass art

3. # Qraffiti

4. % Drawing

Question Number : 161 Question Id : 1034357746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed & § o sifesq § tifsd s=f &1 7eg PR Ihd1 82
Options :

1. % U1 el

2. % DI Bl

3. % fuRi o=

4. ¢ fTFABRY

Question Number : 162 Question Id : 1034357747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first artist to document a child in a womb?
Options :

1. # Claude Monet

2. % Pablo Picasso

3. ¥ Leonardo Da Vinci

4. # Frida Kahlo



Question Number : 162 Question Id : 1034357747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 H = BT GBI B Il USaT HATBR i UT?
Options :

1. % Fdlg 0F

2. % Tl fUpT

3. ¢ farsATGl o fa=ht

4. % WIS HIEA

Question Number : 163 Question Id : 1034357748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct in the context of Arts in India?
I. Bhimbetka cave painting is the example of modern age.

II. Indus valley culture art is the example of Proto history.

II1. Seals provide the trade information of the Indus Valley Civilization.

Options :

1. % Tand II

2. % Il and III
3. % Only III

4. % 1,1l and III

Question Number : 163 Question Id : 1034357748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H erl & o H FafiRad & 9 o 91 sy 98 82
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11. g a7t TR A FHa viel Sfag™ &1 3areru gl
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Options :

1. ® 1qUTII




2. 11 AUT I
3. % Had Il

4. % 119U I

Question Number : 164 Question Id : 1034357749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In cricket, generally a test match is played for
Options :

1. # 9 days

2. % 8 days

3. % 2 days

4. % 5 days

Question Number : 164 Question Id : 1034357749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhbec W, MAIRMR & R T e B9 Al A1 6|
Options :

1. % 9fe

2. % g fd

3. % 2 fed

4. 5feA

Question Number : 165 Question Id : 1034357750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. School gardens can provide a place for children to learn environmentally responsible behaviours and to connect different areas and school
systems together

II. The greening of school grounds is not only for curricular and health purposes it is also for the ecological sustainability of our planet

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 165 Question Id : 1034357750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o @ o a1 By 9gl 82
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Options :

1. ® phad |

2. % Had I

3. ¢ [ UT I Gl

4, % qIGIIATRII

Question Number : 166 Question Id : 1034357751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Table tennis game was invented in which country?
Options :

1. # India

2. % South Africa

3. ¥ England

4. % Australia

Question Number : 166 Question Id : 1034357751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HRd

2. % Sf&FUT 3{TBTehT
3. ¥ g

4. % 3fiferan

~

Question Number : 167 Question Id : 1034357752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is correct about five Mahabhutas present in all substances?
I. Akasha — Subtleness

II. Vayu — Touch

II1. Prithvi — Heaviness

Options :

1. % Il and III
2. I 1 and I1I
3. % Only II

4. % Tand III

Question Number : 167 Question Id : 1034357752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt werdf o Hivie e Herydl & Heu # FAgffad § 3 oI 91 waier I8t 82
L. 3TPIRT - EHAT

11. 91 -
111. Gt - YRITA

Options :

1. % I dYTIII
2. LI dYTIII
3. % had Il

4, % TdYUTIIT



Question Number : 168 Question Id : 1034357753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The initial Juvenile Justice Act, 1986 of India defined a boy child as a Juvenile.
Options :

1. # below 12 years of age

2. % between 5-10 years of age

3. ¥ below 16 years of age

4. % below 10 years of age

Question Number : 168 Question Id : 1034357753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & URIYS TR =g 3fAFTH, 19867 & U d8d &l (bR & &U § gRYI foear|
Options :

1. % 298 Y FHH Y

2. % 510 99 B AT & S

3. 16 91 4 HH 3Y

4. % 1079 Y HH MY

Question Number : 169 Question Id : 1034357754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The identity content among adolescents is considered to fall into two major domains. The interpersonal domain consists of which of the
following?

Options :

1. % Choice related to religion
2. # Choices regarding career

3. ¥ Choices regarding family
4. % Choices related to politics

Question Number : 169 Question Id : 1034357754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fHIRY & offa Ugar Siddyg &1 &1 U & H avffepd foham ofa § | TREaRe® &3 § fgfafed # 3 o9 i 82
Options :

1. % o7f ¥ Yefdg mie

2. % BRI P IR H U4

3. ¢ URAR & IR | U4a

4. % oIS YEfdd T

Question Number : 170 Question Id : 1034357755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A large number of emotions and heightened emotionality in adolescence has been reported by Larson and Richards. Which of the following
feelings are demonstrated by adolescents?

I. Feelings of cheerfulness.

II. Ignored and nervous.

II1. Unsure about certain things.

Options :

1. % Only I

2. % Only II
3.9 1 Il and III
4. % I and III

Question Number : 170 Question Id : 1034357755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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The study of human cognition has been approached mainly from three different perspectives, which are
I. the psychometric approach

II. the development approach

III. the information processing approach

Options :

1. % Only I

2. % T andIII

3. % Tand II
4.« 1, 1l and III
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Options :
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Piaget makes two claims about thinking in the period after concrete operations. Which of the following claims is NOT correct?
I. Developmental changes continue through early adolescence.
II. Formal operational thinking is the final stage of development.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. % Neither I nor II

Question Number : 172 Question Id : 1034357757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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According to Maccoby, female-female interactions typically focus on
I. The building of interpersonal connections
II. The development of individual status

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II
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The effects of early and late maturation are different for boys and girls. Which of the following characteristics of early maturing boys is NOT
correct?

Options :

1. # Better coordinated

2. % Participate more frequently in co-curricular activities
3. ¥ Have feelings of inadequacy and dependency

4. % More muscular and stronger

Question Number : 174 Question Id : 1034357759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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The shape of the posture of which asana resembles a plough?
Options :

1. # Salabhasana

2. % Halasana

3. % Savasana

4. * Dhanurasana

Question Number : 175 Question Id : 1034357760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Options :

1. % HlcTHNA

2. % galg-

3. % {dqrg-m

4. % YRMEA
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With respect to Hand washing facility, which of the following provisions are needed to be made in the school?
L. Proper and continuous supply of water
II. Child friendly wash basins at maximum possible height

Options :
1.4 Only I
2. % Only II



3. % Bothland II
4. % Neither I nor II
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What equipments are required by a school for organising an athletics meet?
I. Stop watches

II. Finishing poles

III. Clip boards

IV. Score Sheets

Options :

1. # II, Il and IV
2. % Jland IV
3.9 111, Il and IV
4. % Only III
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What are the advantages of salabhasana?
L. It improves digestion

IL. It cures tumor

III. It cures the diseases of lungs

Options :

1.9 1, II and III
2. % Il and III
3. % Only I

4. % Only II

Question Number : 178 Question Id : 1034357763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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3. % Had |
4. % BHad I
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Which of the following factors influence the health?
I. Income and social status

II. Physical environments

III. Health care services

Options :

1. ® II and I
2. % Only I

3. % Only II

4, % 1,11 and 11T
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In what way a successful physical health program should help children in learning?
I. Healthy eating and sleeping habits

II. Care for their body (grooming, cleaning)

III. How to respond to other people’s emotional reactions

Options :

1. # Il and III
2. % Only IIT

3. % I, T and III
4.9 Tand II
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In which year the Indian National Congress forwarded the need of National education for children?
Options :

1. % 1905

2.9 1906

3. % 1907

4. % 1908
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Options :
1. % 1905
2. ¥ 1906
3. % 1907
4. % 1908
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Which of the following is a teaching learning method related to work education?
I. Observation method
II. Demonstration method

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 182 Question Id : 1034357767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Many aspects of the development of the personality can be observed by

Options :

1. % cumulative record

2. ¥ observation

3. % questionnaire

4. % project work
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Interview is the tool and technique of
Options :

1. % observation

2. % evaluation

3. ¥ assessment

4. % materialization
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3. ¢ 3fiha

4. % WMfdwiH0
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Which of the following pair is correctly matched in the context of techniques of evaluation?
Options :

1. ¥ Interview : Knowing the behaviour

2. % Observation : Finding new discoveries

3. % Cumulative Record : Governmental Data

4. % Questionnaire : Scholars Thesis

Question Number : 185 Question Id : 1034357770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Which of the following is a type of revolt?



I. Violent revolt
II. Intelligent revolt

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 186 Question Id : 1034357771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Which of the following statement is correct regarding discipline?
I. For political and industrial reasons, discipline has become an important factor in the present social structure.
II. One of the dangers of discipline is that the system becomes more important than the human beings who are enclosed in it.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Which of the following is the purpose of Education?
I. The purpose of education is not to produce mere scholars.
II. To spreads hatred in the society.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 188 Question Id : 1034357773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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Which of the following is the informal community participation?
Options :

1. #* School management committees

2. % Village education comities

3. % Self-help groups

4. % Donation of land

Question Number : 189 Question Id : 1034357774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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How can communities identify the problem in education participation?
I. Low enrolment of the children

II. Dropping out of the children
III. Poor academic performance of the children

Options :



1. * Tand II

2. % Iland III
3. % Tand III
4.+ 1,11 and 111
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Which of the following statement is correct in the context of Sarva Shiksha Abhiyan?
L. It seeks to provide quality education including life skills
II. The programme calls for community ownership of school based interventions.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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“The destiny of India is now being shaped in her classrooms”, is professed by .
Options :

1. % Bhagwan Sahai Committee (1872)

2. % Secondary Education Commission (1852-53)

3. % National Policy on Education (1986)

4. % The Education Commission (1964-66)
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1. % YA Ter Il (1872)

2. % HIeATHD TRIET TR (1852-53)

3. % fR18 IR P HIfd (1986)

4. « R8T 3TART (1964-66)
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SSA has been made the vehicle for the implementation of the RTE Act based on the Committee Report.
Options :

1. ®* A.C. Shah

2. % Anil Bordia

3. % Ajit Kumar

4. % Athreya
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Which of the following is the moral function of teachers leadership?

L. It relates to the shard system of values.

II. The teacher leader’s professional values of dealing with all the students judiciously irrespective of their backgrounds and abilities are his/her
colleagues values as well.

Options :

1. #* Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Which of the following programme is launched by NCERT?
I. Special orientation program for primary Teacher (SOPT)
II. District primary education programme (DPEP)

III. Sarva Shiksha Abhiyan (SSA)

Options :

1. % Only I

2. % Only IlI

3. % Tand III

4. % 1, II and I1I
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Right to Education Act (2009) has become operational since
Options :

1. % 2012

2. % 2009

3.9°2010

4. % 2011
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There has been a tradition in Indian society that community contributes voluntarily for good social cause. Which of the following is one of them?

I. Free labour to construct buildings
II. Contribution in material form



Options :

1. * Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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In the context of examination and other fees, which of the following statement is correct?
I. Primary or upper primary schools run by the government charge different types of fees from student.
II. Government aided schools charge fees as fixed by the government from time to time.

Options :

1. % Only I

2. % Only II

3. % BothlandII
4. % Neither I nor II
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Which of the following is an approach of management of school community partnership?
I. Manpower requirement
II. Social demand

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II
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The schools can perform better if there is close linkage between the school and community. Which of the following can be used to established
this?

I. Parents and schools to communicate regularly and clearly

II. Teachers guiding and advising parents

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II
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